M22.2 (mod 7)
blocks matrix blocks | defect matrix
G 1 1 5x3 23 = 22 0 1122 = X254+, P22+
2 1 5x%x3 24 1 5x%x3
3 0 211 = Xx2,0,¥2,0 25 0 11201 = X314, P25+
4 0 212 = X2,1, 2,1
5 0 154, = X7,0, $5,0 3.G: 26 0 42, = X324, P26+
6 0 1542 = x7,1,¥5,1 27 1 5x3
7 0 2104 = X8,0, ¥6,0 28 0 2105 = X36+, P29+
8 0 2104 = X8,15 ¥6,1 29 0 2106 = X374, P30+
9 0 2311 = X9,0, 7,0 30 0 4201 = X38+; P31+
10 0 2319 = X9,1, P71 31 0 4621 = X39+; P32+
11 0 5601 = X104, P84 32 0 4622 = X140+, P33+
12 0 3851 = X12,0, ¥10,0
13 0 3852:X12,174P10,1 6.G : 33 1 5x3
34 0 2522 = X46+7 (p37+
2.G:| 14 1 5x3 35 0 2523 = X474, P38+
15 1 5x3 36 0 4202 = X8+, ¥39+
16 0 561 = X15,0, $12,0 37 0 4203 = X49+5 P40+
17 0 565 = X15,1,P12,1 33 0 4204 = X504 P41+
18 0 2521 = X174, P14+
19 0 3081:X19+7§016+ 12.G : 39 1 5x3
20 0 2103 = x21,0, 18,0 40 1 5x3
21 0 2104 = X21,1, P18,1 41 0 6721 = X574, Pac+
42 0 6722 = X57489+4 P46+89+
4.G:| 22 0 1127 = X244, P21+ 43 0 6723 = X57467+ Pa6+67+
44 0 6724 = X584, Par+
Block 1: | ¢10 ®30 @40
L =x1,0 1 1,0 1
451 = x3,0 ©3,0 45,
453 = X4,0 . ©4,0 544
991 = X5,0 1 1
991 = x6,0 1




Block 2:

o =x11

452 = x3,1

454 = x4,1

992 = X5,1

992 = Xx6,1
Block 14:
101 = x13,0
103 = X14,0
1202 = Xx16,1
3301 = X220
4401 = x23,0
Block 15:
102 = x13,1
104 = x14,1
1201 = x16,0
3302 = X221
4402 = x23,1
Block 24:
2881 = X26+
2885 = xo27+
3201 = Xo28+
3202 = X209+
3521 = X304
Block 27:
901 = X33+
902 = X34+
1981 = X35+
6601 = X414

7681 = X2+

P11
¥3,1
P41

¥11,0
¥13,1
$19,0

©11,1
¥13,0
$19,1

P20+
P23+
P24+

Yo7+
P28+
P34+

459
544

104
1202
320,

10,
1204
320,

32
2881
3203

904
1984
5701



Block 33: | p351 w36+ a2+
1321 = xa3+ . 1 . P35+ = 108;
1329 = Xaa+ : 1 . P36L = 1324
2401 = x45+ 1 1 . P42+ = 66071
6602 = X514+ . . 1
7682 = X524+ 1 . 1

Block 39: | 431 Q441  Pa5t

2402 = X534+ 1 : . pazy = 240,
2405 = X5+ . 1 . Qaqp = 2404
2883 = Xs55+ . . 1 Va5 = 2889
2885 = X564+ . . 1
7683 = X59+ 1 1 1

Block 40: | 043417+ Q4347+ Pases+

2403 = X53%17+ 1 . . Pazsi7+ = 240

2404 = X5347+ . 1 . Oa3e74 = 2403
2884 = X55%29+ . . 1 P45e5+ = 2883
2886 = X56x29+ . . 1

7684 = X59+5+ 1 1 1




